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O Information Technology (Correct Answer)
(B) O Government scheme
(C) O Electronics
(D) O Detailed description
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Question No.2 (Question Id - 5)
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Question No.3 (Question Id - 79)
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(A) O M3t
(B) O gIQ (Correct Answer)
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Question No.4 (Question Id - 46)
ChE 5 71 %A dZTH A4S 12HA 2.
(A |1KE 0=z
B)|E# (N 412
(C)|mux (=7}
OFE  |(V)2s
(A) O (A)-(I1), (B)-(1), (C)-(IV), (D)<(tir)
(B) O (A)-(I), (B)-(I1), (C)-(IV), (D)(1)
(C) O (A-(IV), (B)-(I1), (C)-(1), (D)-(1)
(D) O (A)-(IN), (B)-(I), (C)-(IV), (D)-(Il) (Correct Answer)
Question No.5 (Question Id - 40)
HiZho| S0{Z L2 ©HSE nEHAR.
N2 The 2, 9%, 2515 7 W47t 0|2 7HHo|Lt 2 AbrS 0| ZehE THE S (

)O|2tL gL C.

AO C
B) O
€O
(D) O

23} 7} (Correct Answer)
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Statemont 12 WG A GWIE optx), o wmvelEol RARKAIED IRIR] X510l W\ FiPsER@EKer.com
o] AR o2 T 2ix &Lt

Statement Il : 9.X| Xl X717} O] AHE-S 1930 ACHO| A RIX| SHAIS SIAPE Q1 A|ZHof A Z A
Susist SEo = ML

(A) O Both Statement | and Il are true.

(B) O Both Statement | and Il are false.

(C) O Statement | is true, but Statement Il is false. (Correct Answer)
(D) O Statement Il is true, but Statement | is false.

Question No.8 (Question Id - 10)
LE M B Xo2 Y2 AS 12HAR.

Hj'd SPLEBE QLo B Ato|7d 40| 7 gZojge Ro| B

(A) O %o}7}= (Correct Answer)
(B) O 3joj=
(€O gse

(D)O 2=

Question No.9 (Question Id - 35)
CheS oD YL §e D2UAL.

Statement | : [[|= A}2O| EfjO{Lt |2 S 2EE09| 0|20 2 0|2
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3
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Statement Il : [[| = 127} X| 7} QICt.

(A) O Both Statement | and Il are true. (Correct Answer)
(B) O Both Statement | and Il are false.

(C) O Statement | is true, but Statement Il is false.

(D) O Statement Il is true, but Statement | is false.

Question No.10 (Question Id - 28)
HIZHo| S0{Z 71 €2 BHE 124 2.

Hef( ), B ( ). B7I( )

o

(A) O ZA

(B) O =]

(C) O & (Correct Answer)
OO =

Question No.11 (Question Id - 55)

RiZiof] S0{Z 22 ©HE NEHAL.

Fi%?(fSZf At27te| S0 XSOt AW AR, 240 U S5 YA} AFHYR SS 50 O
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A O &
(B) O a4
(C)O Ala
(D) O =byxt
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Question No.13 (Question Id - 37)

Che 5 7K WA AES HE D2UNL.

(A)|=Hx], 8, 2 |() |HE &0
(B) &tz (I |88 247
©)| 257 (1) ]

D) &+ (V)jgi< o=

(A) O (A)-(I), (B)-(1), (C)-(IV), (D)-(11)
(B) O (A)-(IN), (B)-(IV), (C)-(I), (D)-(Il) (Correct Answer)
(C) O (A)-(IV), (B)-(I), (C)-(1IN), (D)-(I)
(D) O (A)-(m), (B)-(1), (C)-(IN), (D)-(IV)
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Question No.14 (Question Id - 65)

2 gm 2L HE DEMAL.

A2 A2 222 M= 5250|510 Ut b2t BLHES 25 He
MHOZ HO| 0f52 RO|M 7|20t J2jLt X2 BLIEL Moz v}

BIX| 41 S RO|A| K2tH| SHCh SIS YOl AEMOZ BB LY

22 L2t 2SR YYIIIL S0t S X2 BLH2L Lt ZUE

T} H|EFDI0| B0] S0f QLOjA I 2 3|2 0| ZCf,

M) O w2t ALL2S YYS wa xpat

(B)O %2 222 2N N2 HolM 7|2Ct

(C)O w2t B2 £2 ZLte w0} Iz 3|20 &0}

(D)O X8 SLIES @ SLHS 0 H|8) WYL 77t BCh (Correct Answer)

Question No.15 (Question Id - 19)
CHS BHXH0{2 ¥H2 2 NEHA L.

vl

(A) O Visit

(B) O Direction (Correct Answer)
(C) O Fragrance

(D) O Tendency

Question No.16 (Question Id - 6)
CHE 5 20|7L H|XE S D2HA 2.
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o
o
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(A) O zs|ct

(B) O of#x| act

(C) O =xt38}Ct (Correct Answer)
(D) O &t

Question No.17 (Question Id - 63)

CHSS =AME S B Est WS D2HA L.

(A) O|H2= BHE A= EEO| OHA|E £35] FCt.

(B) 20jXt= BHA 7HX| SO b £ 0§ 0| F 0Lt
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(A) O Dragon-fly

(B) O Wild goose

(C) O Frog

(D) O Sleepy head (Correct Answer)
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Question No.19 (Question Id - 25)
HZho| S0 & 71 EH2 HE 1=24A 2.

‘HICIH O] = Qo] & 7t= ( ) eLCt.

(A) O
(B)O
€O
(D) O

2 bt bt

| (Correct Answer)
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Question No.20 (Question Id - 49)
ﬂl== It_' =] HOI OI-I:II-C H-|G|° —|EL|A|2

AT = FF0|A o2 7HX[ 2SS S ot QAT

(A) O Civic group, choices

(B) O Immigrant group, benefits

(C) O Civic group, benefits (Correct Answer)
(D) O Immigrant group, choices

Question No.21 (Question Id - 72)
OGS =M ZE XA BT AE nE2EHA L.

(A) 3t K& 71Z0] WA AIE I8 & HA EC

_

(A) O (C)-(B)-(D)-(A) (Correct.Answer)
(B) O (C)-(D)-(B)-(A)
(©)O (D)-(A)-(B)-(C)
(D) © (D)-(B)-(A)-(C)

Question No.22 (Question Id - 83)

RiZho S0{Z2 L2 ©HE nEHAR.

( ) 2 3F0| AX[E &2 o 7| YLt
(A) O BraH
(B) O z=3zrd
(C)O zxtA
(D) O =& H (Correct Answer)

. Question No.23 (Question Id - 29)
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(C) EDAEUE 2%, A7 48, AE &AMz 2HEC

(D) mEtM LHES M 2-dstn a7t 222 LS| 20| Tt

(A) O (A)-(B)-(C)-(D)
(B) O (D)-(C)-(B)-(A)
(C) O (B)-(D)-(A)-(C)
(D) O (C)-(A)~(B)-(D) (Correct Answer)

Question No.25 (Question Id - 82)
HiZiofl S0{Z 71 YR2 BHE 12HAR.

( ) O|2f1 ghL|Ct
(A) O =tk (Correct Answer)
(B) O Al
(C)O opgt
(D)O Mgt

Question No.26 (Question Id - 80)

RiZho S0{Z2 L2 HENEHAR
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)= 61ME 2= YL

(A) O
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(D) O
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Iz}t (Correct Answer)
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Question No.27 (Question Id - 61)

RIZH| S0{Z 718 YHR2 WS D2HA L,

2 K7H ( ) OFZ2 WhSEOHC}

(A) O BO{E (Correct Answer)
(B) O wofjof

(C)O w®o|CHt

(D)O ro|=X|

Question No.28 (Question Id - 58)
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(D) O 21£0|= L}R0|A =Oo{E uj7} UL} (Correct Answer)
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Question No.30 (Question Id - 99)
(B) Ol SOZ AHU2 S D2HAR.
(A)O &g AHatH
(B) O Ltz stotH
(C) O TLx| eto2{H (Correct Answer)

(D) O BLtx| ghectd

—

Question No.31 (Question Id - 100)
9l 2o F4 M2Zto| ¥ £ Q& BE n2UAL.

(A) O M2 Qx| b7 HHESIX| Q& 2 1 23| of BtC}. (Correct Answer)
(B) O a2 stH Hrjf o EICt.

(C)O MEI}= MEE 3tX| Q=Ct.

(D) O AM4Z HHESIX| 2o o =}

Question No.32 (Question Id - 101)
CHE S4='a o|o| 7L H| et AE 12
(A) O 71
(B) O =%} (Correct Answer)
€O wme
(D) O i

—

ZMAQ.

Question No.33 (Question Id - 36)
eSS om Y%L ©2 D=L,

Statement | : Et= 232 =1} L 2f|, X{O| = CHAFR} O|OF7| 2 M =IC}

Statement Il : =2 Al = O &S| RALY.

= =©°

(A) O Both Statement | and Il are true.

(B) O Both Statement | and Il are false.

(C) O Statement | is true, but Statement Il is false. (Correct Answer)
(D) O Statement Il is true, but Statement | is false.

Question No.34 (Question Id - 85)
Che UE 3 REo| YU S n2HAL.

sirps}

(A) O
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© O #
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(Correct Answer)
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(A) O 4 gra (Correct Answer)
(B)O 7t &t

(C)O L=tz

(D) O L= chalof

Question No.37 (Question Id - 77)

oo (=3 = X=3
ChES D Y2 HE 12HA .

Statement | : St 0| M N 2 BE F StLt= FA0|C}

Statement Il : =412 3 8& 15U E =4 At2[0|M O &3 90| X|L|= ZO|LC}.

(A) O Both Statement I and Il are true.

(B) O Both Statement | and Il are false.

(C) O sStatement | is true, but Statement Il is false. (Correct Answer)
(D) O statement Il is true, but Statement | is false.

Question No.38 (Question Id - 96)
CHe 5 YU QRS HE D2UAIL.

[ )

o orte|
(A)|7HT M E =E20| ZHHo| 32 2| 22 " o
N 7 FE= P

(B) | A /B ZLE2| Tojzro| ZHiAof| HIs 3 (1) c}

A =Xe} X O|lsl Rl]=o0 A of
(C) _OI_|H|X|-E—| -9-00" —|OH = |_'IE—| A-II:Il—jl- [k (”I) g.%dg-ﬂl:l_
o2 BB U e 22 gD AN U |y [y

o

(A) O (A)-(IV), (B)-(lll), (C)-(II), (D)-(1) (Correct Answer)
(B) O (A)-(IV), (B)-(lln), (C)-(1), (D)-(I1)
(€) O (AX-(), (B)-(1), (C)-(I), (D)-(IV)
(D) O (A1), (B)-(1), (C)-(IV), (D)-(111)

Question No.39 (Question Id - 52)
Chg EE & FEQ g2 HAYS 124N 2.

CHEOIANE 2 222 of S M 2ot AS LIT

(A) O Agreement for shoes

(B) O Verbal agreement (Correct Answer)
(C) O Memorandum of understanding

(D) O Agreement of cooperation

Question No.40 (Question Id - 62)
ChE 2E & F21 90| 7L H|e A4S D2HA 2.

OF7|7F Xt QLO{ M K| A =838

oz
e
o)
Hu
mn
<
fa]
)

A orix!

(B) O mjx| &%= 2 (Correct Answer .
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Question No.42 (Question Id - 8)
HIZH| ZEORE0L SAIE T2 AL

. HOEEE AU TS H( ) LEA ZAL{Of Shet.

TN ) S0 2 AFs|of STt

e RS 7HEZ of0|= A0te| &X|E ( )
(A) O x|Ljct
(B) O Huyct
(C) O Atm|C} (Correct Answer)
(D) O 2|t
Question No.43 (Question Id - 42)
CIS2 240 st dEYLN?

Q[0 M AtAZ SEA|Z|7| @[3l OtLH 2t OFO| S 2(= 0] ELi 2 =X} t=0f

O X H0f CiL|= ottitE EoSt= T ALICH

(A) O AZtorbt

(B) O 2to|ofut

(C) O 7|2{7| 0ttt} (Correct Answer)
(D) O =of

Question No.44 (Question Id - 24)
HIZHo| S0{Z 71 Y2 BHE 124 2.

Gad ZI747H193130] 22 ZE0| ( ) YLCt
(A) O Z=mat
(B) O otMH
(C) O Mrj (Correct Answer)
(D) O Aryol &

Question No.45 (Question Id - 59)
OS2 oo g2 B2 n2dA L.

1930 EHLCHO)| £ Aot ZRZ Q| N2 A A| Q.

il

(A) O Mrf, 1%, 8.8 (Correct Answer)
B)O zeiE, AL e+ 52 2

(C)O b, Agfix|, oA A

D)O 24, vjat7|, 50|

Question No.46 (Question Id - 11)
HiZho| S0{Z L2 ©HE DEHAR.

AEE0IE R HE ( ) & LT}
(A) O =0
(B) O geor (Correct Answer)
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CtE 32l 0|7t Hixet AE NEHA L.

stotsict

(A) O pfeuct

(B) O 0{Q7} ULt (Correct Answer)
(C)O gryfct

(D)O =o| gict

Question No.49 (Question Id - 68)
wzio] S01Z 71E Y2 HE D=L

Ot ofl 23 ( ) L&Al H

o2
u
u
+
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_|T|_

(A) O LojLtof (Correct Answer)
(B) O dofLtzim

(C©)O ojLin

(D) O oLt

Question No.50 (Question Id - 78)
HIZho| S0{Z L2 ©HE DEHAR.

( ) OlM FEME S5, F2 M2 HE, S22 Y, M2 MF
c}.

oY
rlo
1=
rlo
1R
mjo
0%

bal

o

(A) O
(B)O
€O
D)O

o o
ot o2 0% Hu

>

14 (Correct Answer)

2 02 oy oy
to

to

o oo or o
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Question No.51 (Question Id - 33)
ulZhol S0iZ YU ©E DEHAL

rr

SHRIFOl A2 ME =7t Axdo| H=dst L c

(A) O m=MAI3}

B) O =g

(C) O chzl3} (Correct Answer)
D)O =M}

Question No.52 (Question Id - 76)
CH25 7Y H HZst WS I2HA L.

(A) g1 (1) Eﬂ_ﬂ._lil M1 CHE
B)ol=4l | M) [oizieyar

©)Z2oiz () [UNAFR 23
D)jojsat  |(IV)| - E3A

(A) O (A)-(I), (B)-(1), (C)-(IV), (D)-(1N)

(B) O (A)-(11), (B)-(IN), (C)~(IV), (D)-(I) (Correct Answer)
www.FirstRanker.com
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Question No.54 (Question Id - 44)

ChE BHxtoje] L2 X2 DE2HA L.

i@

(A) O Traffic (Correct Answer)
(B) O Uniform

(C) O Exchange

(D) O School

Question No.55 (Question Id - 22)

g0 Yo g2 nEYAL.

jo
rlx

REE

p1o]

NIEREI D

(A) O
B)O
€O
(D) O

(Correct Answer)

oN oY oN oo

on ot k> o
U ro me Ao

Question No.56 (Question Id - 92)

Wz S0|Z YL TE D2YAL.

1920 HACh = 7|9 HIH50[ ( ) A S BToLL, Ale|Fo AtdE B2 2t S
At=|E Bt A|7| DA} Lo HOFRAL

(A) O
B)O
€O
(D)O

=)

IX| (Correct Answer)
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Question No.57 (Question Id - 16)
RiZho SO1Z L2 ©HE nEHAR.

s-é-_l_y'z_'% 3}%9' _IQF%'C‘)'I-( ) Ol:“"l E'-'

(A) O =2}o} (Correct Answer)
B O M

(C)O Z4

D)O ag

Question No.58 (Question Id - 45)
CHS $xjojo] Yote £g DEMAL.

(A) O Fly

(B) O Misconduct (Correct Answer)
(C) O Misfortune

(D) O Popular

Question No.59 (Question Id - 66)

Bzt SO{Z 718 EH2 AS n2HA L.
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(A) O (A)-(1), (B)-(IT), (C)-(IV), (D)-(1I)
(B) O (A)-(lm), (B)-(IN), (C)-(1V), (D)-(1)
(C) O (A)-(IV), (B)-(IN), (C)-(1), (D)-(1)
(D) O (A)-(I), (B)-(IV), (C)-(II), (D)-(Ill) (Correct Answer)

www.FirstRanker.com

Question No.61 (Question Id - 47)
CHe APRHgOlo| Yare %8 DEMAL.

T\ R

(A) O Most difficult

(B) O Red-cross

(C) O The great majority of (Correct Answer)
(D) O Easiest

Question No.62 (Question Id - 39)

HIZHO| SOiZ YIS BE DENAL.

O[2 =0 M7 Rl X|Ch2t ZAL7| 7] 20] W27t £32E|E 5=

== ( ) 2t gk Ct.
A)O wxg

B)O =z

(C) O BM=2| (Correct Answer)
0)O =y

2157 ot=

Question No.63 (Question Id - 32)
Riziof] E0{&2 A2 & %:I_EMMQ.

YB3 HSO| /XS A= ( ) & LE

o

A)O m=x=
(B) O =4
(C)O z

aF
(D) O ME (Correct Answer)

Question No.64 (Question Id - 64)
ChES cAHZE SA HigS XS D2MA .

A= &l

(A) O (B)-(C)-(A)-(D)
(B)O (B)-(D)-(C)-(A)

(C) O (C)-(B)-(A) - (D) (Correct Answer)
www.FirstRanker.com
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Question No.66 (Question Id - 18)

CE etxtojo] 22 X2 n2dAR.

AR

(A) O Population (Correct Answer)
(B) O Entrance

(C) O Exit

(D) O Number

Question No.67 (Question Id - 23)
=239 78 22 B2 1EHAML.

7ol oMl HOts FAYLIN?

(A) O x}7| 7% (Correct Answer)
(B)O At 2y

(C)O xtdd st
(D) O ofot

ot Mo

AL

Question No.68 (Question Id - 2)

Rizho S0 22 BHE DEMAR.

S0t 4 0| &2 ( ) L ch
(A)O QoxpMOIzE=
(B) O rystolz
©) O ysrast=
(D) O =MuIzFZF0o|0101-23}2 (Correct Answer)

Question No.69 (Question Id - 13)
CheS oln YU gE D=L

Statement | : $H=

ro

ot=o| S of¢olLt.

Statement Il : SH=.2 97| T}7| 20| 254 ALZS0| M3 x| &ert.
(A) O Both Statement | and Il are true.
(B) O Both Statement | and Il are false.

(C) O Statement | is true, but Statement Il is false. (Correct Answer)
(D) O Statement Il is true, but Statement | is false.

Question No.70 (Question Id - 3)

CtE 5 7t 57 dZst AS n2dA L.

A [z W [mo
B) =z TE;
© |az TE
O |u= V)

(A) O (A}, BI-1). (C)-(V). (D)-(N)
(B) O (AL (B)-V), (C)-(1) (D)1}

(C) O (A)-(IV), (B)-(1), (C)-(IN), (D)-(l) (Correct Answer
www.FirstRanker.com
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Question No.72 (Question Id - 90) StRanker.co

RIZHo| SO0{Z L2 BE NEHA 2.
HE=0t AHE0F +=2R2S =0t
2l Ot E X2 = ( ) 2747
Y7t 2Hef 7[5t Lo = X| o™

a1 =2 o 79 #oiz.

(A) O olF|L}

(B) O ot=x|

(C) O <otLt (Correct Answer)
D) O oz

www.FirstRanker.com

Question No.73 (Question Id - 17)
HZho| S0{Z L2 HE DEHAR.

gt=2| == ( ) YLILt.

AO =

(B) O ¢l (Correct Answer)
(C)O =zxm

(D) O ol

Question No.74 (Question Id - 30)
HIZho| S0{Z 71 Y2 BHE 124 2.

ool MY =2 A2 ( ) &Lt
(A) O weu
(B) O sta}4t (Correct Answer)
(C)O =zt
0O o

Question No.75 (Question Id - 26)
HIZH) S0{Z A2 S NEMAR.

AO 1

T2, U
(B) O n=xAM, dtg
M

H
T
=
>
r=
L L
o
]
=
=}
(1]
(2]
-
>
=]
7]
g
]
2

€O
(D)O n3a, =M, Azt

Question No.76 (Question Id - 93)
ChES =AMHZE SA HigS WS D2MA .

(A)  A=0| =[7| Tof ot 2 &S =0t
(B) 2T ot A2 A0t AHO| SO0t= W7HK| €2 F=Ch

(C) H=TZ =0l A22 62 PH ASEIC
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(A) O Q7|& ot

(B) O =05t ZC} (Correct Answer)
©)O g2/7t gict
0)O 2ol gir

www.FirstRanker.com
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Question No.78 (Question Id - 12)
uiZholl 02 YW T2 n=HAL.

) elict.

(A) O %t
B)O =
(C©)O M
OO =

Question No.79 (Question Id - 1)

Chg EHojo] YRR £2 T2 MAIL.

o

Bt

(A) O East Asia

(B) O Korean Peninsula (Correct Answer)
(C) O Korea Trait

(D) O Han-ban Province

Question No.80 (Question Id - 41)

RIZHo| S0{Z L2 B©HE DIE2HA 2.

LHO| 7} B2 2172 H|E0| =0t = 214
A) O =3}

(B) O &3} (Correct Answer)

C)O r=xt

D) O g

rlo
o
El
o
IS
=l

Question No.81 (Question Id - 20)
Che THojo| o2 W2 DEHAIL.

[ ]

5%

(A) O Edible

(B) O Addiction

(C) O Achievement (Correct Answer)
(D) O Sexual harassment

Question No.82 (Question Id - 73)

CHES olm Wizl SOZ L8O = Ji% gare
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(D) O 247t

Question No.84 (Question Id - 56)
HIZhol S0{Z2 L2 BE NEMAR.

(A) O XIm} (Correct Answer)
(B) O et
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Question No.85 (Question Id - 31)
HIZo] S01Z AL 0f3]E DEHAIL,

A0 2 4 e THA 7RI A2 ( ) Lt
(A)O Zray, 2N H2M, 24T} 52

(B) O s, Zra, 514, Fgamt T2ty

(C)O F2M, BM, 24|, 44T} 724 (Correct Answer)
(D)O £ZA, 2EA, M, = 2H T} TH2IY

Question No.86 (Question Id - 91)
HiZhol S0{Z L2 BE NEHMAR.

( ) Ol= ESHHAM = 22 ZO0| LIEFRLCE. O[A|7|o] Bt de 7t20H F57 Trot
A2 BE U2, 353 22485 US 27 IA &t AoIRAT

(A) O =M H7|

(B) O =M &7| (Correct Answer)
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Question No.87 (Question Id - 34)
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(A)O 2z4t

(B) O wm=ZHt (Correct Answer)
(C)O wut

(D) O oyt

Question No.88 (Question Id - 84)
ChE ARG 0ol 22 XS N2HA 2.

R=ZFM

(A) O Great people
(B) O Superior

(C) O Diligent people
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Question No.90 (Question Id - 89)
CHE 3 718 %Al s S 12HA 2.

N EHESCL () {Independence
ol
(B) ;Xﬂ)\l (11 |[colony
C)|Al gl x| (N |Period of Japanese Rule
D)=z (IV)|Democratization

(A) O (A)-(IV), (B)-(ll), (C)-(I1), (D)~(I) (Correct Answer)
B) O (a)-(1n), B)-(), (C)-(IV), (D)-(l)

(C) O (A)X-(), (B)-(I), (C)-(1V), (D)-(1)
BYO (A)(m), B)-(1), (C)-(), D)}-(V)

Question No.91 (Question Id - 60)
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Question No.92 (Question Id - 27)
RIZho| SO{Z L2 HE DEMAR.

1919110} Q0jct BHRIZO| SYRSL ( )Lt

Ho

(A) O 4.
(B) O 3.
(C)O Aot
DO ¢

Question No.93 (Question Id - 53)
CHE 5 78 %Al 28 242 D2HA 2.

(A)|gsel () |EE4o B
(B) |8 X1& (I Jerx

©) g4 (1) |HH 2] 7|
D)3z (V) |8k

(A) O (A)-(), (B)-(I), (C)-(IV), (D)-(IlT)
(B) O (A)-(I), (B)-(1), (C)-(IV), (D)-(Il) (Correct Answer)
(C) O (A)-(IV), (B)-(), (C)-(1IN), (D)-(I)
(D) O (A)-(I), (B)-(1), (C)-(In), (D)-(1V)
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(A) O 4EXx|

(B) O =7iLt

(C) O =maLtM (Correct Answer)
O)O ot g™

Question No.96 (Question Id - 95)
LSS =M ZE XA B ET XS n2HA L.
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(A) O (C)-(A)-(D)-(B) (Correct Answer)
(B) O (A)-(B)-(C)-(D)
(C) © (D)-(C)-(B)-(A)

(B)-(D

(D) © (B)-(D)-(A)-(C)

Question No.97 (Question Id - 9)
HIZH S0{Z2 L2 AS DEMA L.

(A) Ol Tz RAS T 177
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AO gy

(B) O gLty
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(D) O H|2{ (Correct Answer)

Question No.98 (Question Id - 87)
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(A) O The landlord leases this building. (Correct Answer)
(B) O The tenant rents this building.

(C) O The tenant buys this building.

(D) O The boss takes over the building

Question No.99 (Question Id - 86)
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(B) O B (Correct Answer) www.FirstRanker.com
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